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Grade 11 Physics - Math Basics

Algebra
1. Rearrange the following equations for the variable stated.
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Trigonometry
2. Calculate the unknown variable for each of the following right triangles:
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sing Your Calculator
3. Use your calculator to solve the following:
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Linear Graphs
4. Use the following graph to answer the questions below.
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a. Calculate the slope of Line A.
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b. Calculate the slope of Line B.




Grade 11 Physics — Unit Conversion

Convert the following:

1. 2.4 daystos:
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3. 25.0km/h to m/s:
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4. 16.3km/h to m/s:
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5. 5.12m/s to kmm/h:
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6. 1.23m/s to km/h:
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7. 19.3km/s to m/s:
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8. 4.6m/min to km/h:
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9. 503km/day to m/s:
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11. 1.23 x 10"*m/day to km/h:
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12. 67.8m/h to km/s:
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Grade 11 Physics — Using Prefixes Answers

1. 24x10%s

2. 6.9x10° m OR 69x10* m

3. 121x108gOR 121x10%¢g

4. 7.98Mm

5. 512kg (because 512000g = 512x10° g)
6. 33pg (because 0.000033g =33x10" g)
7. 0.65uL and 650nL

8. 0.9fm (because 9x10-16 m = 0.9x10"° m)




Grade 11 Physics ~ Angles Answers
1. a. 68° W of S, [S68°W], 22° SW, [W22°S]
b. 32° E of S, [S32°E], 58° SE, [E58°S]
2. a

3.




Counting Significant Figures Answers

# of Sig Figs
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Calculations with Significant Figures Answers

Answer
4.60 +3 8
2.15x3.1x100 700
80 + 0.675 100
1.0007 x 0.009 0.009
75 —2.55 72
3817 5
0.008 + 0.05 0.06
500000 + 5.002 100000
13.7x2.5 34
410 +3.300 413
22.4420 + 56.981 79.423
200 — 87.3 113
500009 + 17.000 29412
50.0 x 2.00 1.00 x 10*
4.56 x 9.000 + 4.601 8.92
74.160 — 4.8 — 0.470 68.9
5.00009 x 0.06 0.3
5003 + 3.781 1323
6.790 - 2 5
18.640 + 670.445 689.085
67.5 — 0.009 67.5
5.5+3.7+297 12.2
300 x 10.6 3000
71.86 — 13.1 58.8
51+7 7
(59.3 + 0.0054) + 1 1x10°
200 x 3.58 700
640 — 627.03 13
357.89 + 0.002 357.89
65 x 0.000837 0.054
835 + 0.040621 2.06 x 10°
(34 + 5.02) + 2.222 18

Answer
0.059 x 6.95 0.41
5000 + 55 90
225+6 8
3.48 + 53.252 + 0.601 57.33
10-9.9 0
0.003 + 106 0.00003
47 x2.56 + 1.090 110
23x345x742 59
2.2 +4.26 — 0.00003 6.5
38.000+ 4.4 8.6
7000.40 + 6.2 + 6.32 7012.9
1000 x 0.000041 0.04
87.003 + 7.00 94.00
0.70-0.1 0.6
452+1.444-22 44.4
17.95 +32.42 + 50 100
89-+9.0 9.9
0.04+2.7 2.7
6.790 - 2.5 4.3
0.00003 x 727 0.02
6.7 + 30030 — 12220 17817
0.003 +5 0.0006
97.0 x2.00756 195
84.675-3 82
(4.63 x10°) + (2.5x 10°) 0.65
3.14x5.6 18
208 +9.0 23
12.09-6.7 54
89.010 x 70.00 6231
52.00 + 7.30 7.12
3.01 +2.151 5.16
78.7 —33.31 454
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Grade 11 Physics - Distance and Displacement

0.8m {toward the buoy]
2. (a) 10kg [lost]
(b) $6000 [increase]
3.0km
distance = 25km and displacement = 3km [East]
(a) 35km s
() 25.6km [30.6° SW] — o (L0R0L™ S )
6. (a) 40m [below the surface]
(b) at water level
7. (a)0m
(b)314m
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Grade 11 Physics - Speed and Velocity Answers

"300m/s [South]

120m [South]

(a) -1.4m/s

(b) yes

(c) no, we don’t know if it’s uniform
4. (a) 42m/s

(b) 0.36s (we assumed a constant speed)

5. 139km [East]
1917m [above the ocean floor]
7. (a) Om/s
(b) 100m/s
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Grade 11 Physics - Uniform Acceleration Answers

1. 11s
2. 4.9s
3. 8.0m/s [East]
4. 18.75m/s* [up]
5. 5.6s
6. 1.1m/s® [West]

7. 33m/s [South]




Grade 11 Physics - Acceleration due to Gravity Answers

1. (a) 19.6m/s [down] (b) 58.8m/s [down]
2. (a) 19.6m [down] (b) 176m [down]
3. (a) 27.6mv/s [down] and 35.6m [down]
235

(b) 66.8m/s {[down] and 228m [down]
4. (a) 5.4m/s [down]  (b) 28m [up]
5. (a)0.51s (b) 2.8m [up]
6. (a)27.6m [down] (b) 13.8m/s [down]

7. (a) 10.4 m/s [up] (b) 9.20m/s [down]
8. 8.16s




